Name:

1+1-=
3+1-=
O+2=
2+ 3=

Addition within 5 (Sheet 1)

5+0-=

1+4 =

1+2=

3+2-=

CorbettmOtths
primary

2+D = 4
[j+1:3

()

O+

Caitlin has 2 pencils.
Her mum gives Caitlin 2 more pencils.

How many pencils does Caitlin have now?

-



Name:

4 + 1=

3+0-=

2+1-=

2+ 2=

Addition within 5 (Sheet 2)

Corbettmotths
) primary

4+o::
1+3= :
o+5::
1+1-= :

1+D=5
[j+1:4

[: +2=3

3+( =3

Lewis is 4 years old.

Natalie is 1 year older than Lewis.

How old is Natalie?
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Name:

O+0:=

2+1=

O+ 3=

1+1-=

Addition within 5 (Sheet 3)

2+2::
1+4=:
2+o::
3+2::

CorbettmOtths
primary

2+D = 4
[j+3:5

[ ]-3
o+ =1

On Monday, Jenny posted 1 letter.

On Tuesday, Jenny posted 2 letters.
How many letters has Jenny posted?

-



Name: Addition within 5 (Sheet 1)

Corbettmotths
o primary

1+1= Z 5+0:E
3+1=Z 1+4:E
0+2:z 1+2=z
2+3:E 3+2:E

2+=4 [Z+4:5
(2 )+1=3 0+(4 | =4

Caitlin has 2 pencils.
Her mum gives Caitlin 2 more pencils.
How many pencils does Caitlin have now?




Name: Addition within 5 (Sheet 2)
* CO;E?:;??thS

4 +1-= 4+0=|4

3+0= 1+3=14

2+1-= O+b=1|5

2+2 = 1+1=|»2

1+(4 )=5 (1 ])+2=3

+1:4

3+

9>

Lewis is 4 years old.

Natalie is 1 year older than Lewis.

How old is Natalie?



Name: Addition within 5 (Sheet 3)

Corbettmotths
o primary

mo:E z+zzz
2+1:z 1+4=E
0+3=E 2+O:Z
1+1= Z 3+2:E

2+=4 E+3:4
+3:5 O+Z]:1

On Monday, Jenny posted 1 letter.
On Tuesday, Jenny posted 2 letters.
How many letters has Jenny posted?
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